Wed, Nov 9, 2011 MATH 462 Quiz 6

Each problem is worth 2 points. Show all your work.

Name: (print)

1. Let T be an invertible linear operator on a finite-dimensional vector space. Prove that

if T is diagonalizable then T~! is diagonalizable.

Srnee  Tx= A% &=> x= 7 7 %) <=> 7"’5<}=51X_,
@y aj@qvec%ar 7T affo S egz(n VecFor=
of T = uce T Heas a Fanis gf Lipervecrors)
o does T ! =) 7 — > a’{ajona,ﬁza/-ﬁ-

'S8 B
OAZIL dﬂtaéaxv‘xaf/ywo/ /4=[/Jo(_

le. A=SDST > AT-SPIST
Shee D713 ‘&“j""""e , A = fT IJM &
soagorativatle =2 T s chagoraltats.
2. For the linear operator T on the vector space V' determine whether the subspace W is

invariant: V = My,o(R), T(A)= ((1) (1)) A and W={AeV: AT = A}.

Zf A"'/?f GI/\/)W

£
o ! o. ) /4 0) e 2 =(C,
(,0>[£c)" « ¢ ¢{MW&’§
== W 1y not 7 - /‘uva,ria»é,

Please turn over...



3. TFor the lincar operator T on the vector space L; test T for diagonalizability, and if T is

diagonalizable, find a hasis /7 for V' such that [T is a diagonal matrix:

V= C? andT is defined by T<<Z>>=<f~+zw>.
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